SREERE LH#H/C  90/3G
Hi¥ =+ &% | 16  2G 3G H/C| &t
1 | 12R13H == Fr/ &< 183 198 216 0 597
2 | 12A13H = R/ R—=/ 192 203 202 0 597
3 | 12820H = NIL Ay R 163 204 214 0 581
4 | 12H20H BS NIV Ay R 200 172 199 0 571
5 1A2H = ~NIL Ay R 184 195 188 0 567
6 | 12H20H BS NIV Ay R 194 202 169 0 565
7 1H6H = FaXxF 222 155 183 0 560
8 1H6H BS L€ 214 169 174 0 hb7
9 1H6H = Lt 155 225 172 0 552
10 | 128 20H BS ANIL Ay R 180 214 155 0 549
11 1H9H = aAq 209 178 162 0 549
12 | 12820H BS TYHhAF 181 206 160 0 547
13 | 12HB16H = A e 170 168 206 0 544
14 | 12813H BS R/ A=/ 205 170 168 0 543
15 1H9H = THhAF 209 156 173 0 538
16 1A9H BS TYHhAF 160 190 183 0 533
17 | 12B16H = R/ R—=/ 188 176 160 0 524
18 | 128 13H BS tre/x2< 171 200 152 0 523
19 1H8H Bpil 77k 173 125 222 0 520
20 1A9H BS aA 210 175 134 0 519
21 1A4H = L€ 219 166 133 0 518
22 1H9H BS TYHF 182 162 171 0 515
23 1H6H = FaAxTF 192 154 168 0 514
24 1A6H == FaxXFxF 183 172 159 0 514
25 1H9H = a4 183 176 155 0 514
26 | 12H20H == R/ R—=/ 180 167 166 0 513




27 1H9H BS a4 181 150 181 512
28 | 12H20H BS ANIL Xy R 168 183 159 510
29 1H6H BS FaxXFxF 158 191 161 510
30 1H6H BS L 179 147 180 506
31| 12H30H BS TYHF 140 188 177 505
32 | 12H20H BS R R—=/ 156 170 178 504
33| 12H13H = TYAHF 155 182 166 503
34 | 12H13H BS VAU 157 169 176 502
35 | 12H20H BS YV 176 157 167 500
36 | 12H13H BS te/z< 156 161 181 498
37 1H6H = A e 182 157 159 498
38 1H6H == FaxX®F 136 171 190 497
39 1H6H BS R/R—/ 165 169 162 496
40 1H6H == FaxX®F 142 178 176 496
41 | 12H28H = NN T 145 149 202 496
42 | 1R12H BS nx7 173 173 149 495
43 1H4H = TYHHF 201 129 161 491
44 | 12R16H BS A e 198 143 149 490
45 1H6H = FaxXxF 165 154 171 490
46 1398 BS a4 148 184 155 487
47 1H6H = R/R—/ 170 155 160 485
48 1A6H BS L€ 202 144 136 482
49 | 12H30H BS V=X 136 200 146 482
50 1A6H BS L€ 175 154 152 481
51 1H9H BS aAq 179 150 152 481
52 | 12H23H BS AR TH 165 163 152 480
53 1H6H BS R/R—/ 120 195 165 480
54 | 1H9H B aA 177 135 165 477
55 | 12H20H BS R/R—/ 198 143 135 476




56 | 128 20H BS TYHF 165 166 144 0 475
57 | 12H13H BS R/R—/ 169 161 144 0 474
58 1H6H BS FaxXFxF 155 176 143 0 474
59 1R4H BS TYHF 187 151 136 0 474
60 1H9H BS TYHF 169 128 177 0 474
61 1A6H BS TYHF 119 192 162 0 473
62 1H6H = FaAxTF 161 147 165 0 473
63 1A1H BS ~ 115 119 149 90 473
64 1H6H = FaAxTF 189 105 178 0 472
65 1A6H BS L€ 129 162 181 0 472
66 | 12A8H AT LR 142 137 192 0 471
67 | 12H20H BS R R—=/ 140 168 163 0 471
68 | 12H20H = THHF 196 120 155 0 471
69 1H6H BS R R—=/ 174 133 163 0 470
70 1H6H BS LEY 140 169 160 0 469
71| 1A11H AT 77 b 146 210 112 0 468
72 | 1A9H BS aA 175 143 149 0 467
73 1H6H BS L€ 184 141 141 0 466
74 1H9H = TYHF 201 127 138 0 466
75 | 12R17H | f4if =R 150 | 173 | 142 0 465
76 1H9H BS a4 153 134 178 0 465
77 1A9H BS TYHF 177 140 148 0 465
78 1H6H BS L€ 172 157 135 0 464
79 1A6H BS YRRE 154 157 152 0 463
80 1H4H BS 707 157 113 193 0 463
81 | 12H20H BS R R—=/ 131 171 159 0 461
82 | 12H20H BS NIV Xy R 103 189 169 0 461
83 1A9H BS a4 123 170 168 0 461
84 1H3H AT F 2 167 89 115 90 461




85 1H6H BS TYHF 140 155 165 0 460
86 1H6H BS R/R—/ 182 128 150 0 460
87 1H6H BS R R—=/ 155 165 139 0 459
88 1H9H BS TYHF 152 191 116 0 459
89 1H7H AT <N 167 157 134 0 458
90 1H6H BS TYHF 146 161 150 0 457
91 | 12R20H BS NIV Xy R 179 135 142 0 456
92 | 12R7H FERAT 77 b 134 188 133 0 455
93 | 12R16H BS hxR 124 135 105 90 454
94 1H9H BS TYHF 141 187 126 0 454
95 1H1H AT FEY 151 133 170 0 454
96 1H6H BS R R—=/ 183 126 144 0 453
97 1H6H BS LEY 149 167 136 0 452
98 1H6H BS TYHF 165 150 136 0 451
99 1H6H = THAF 119 163 168 0 450
100| 128 30H BS a4 7 )~x 137 182 131 0 450
101| 1H6H BS YRXE 159 138 152 0 449
102| 1R9H BS TYHF 155 172 121 0 448
103| 1H9H = TYHF 168 135 144 0 447
104| 1A12H BS [ 2 140 166 141 0 447
105| 12H30H BS YRRE 144 169 134 0 447
106 | 12816H BS R R—=/ 137 161 146 0 444
107| 1H9H = TYHF 169 105 170 0 444
108| 1HG6H BS TYHF 146 147 150 0 443
109 1H9H S a4 123 | 162 | 158 0 443
110| 128 26H AT v 160 150 132 0 442
111 | 12813H BS YRRE 129 155 157 0 441
112 1A9H BS a4 153 150 138 0 441
113| 128 10H BS Y hE 164 128 148 0 440




114| 12813 | B&S S R—=/ 175 75 190 0 440
115| 128 20H BS TYHF 129 141 170 0 440
116 | 12H13H BS TYHF 154 153 132 0 439
117 | 12830H BS Teav 115 131 193 0 439
118| 1H6H BES TYHF 135 174 | 126 0 435
119| 1A2H BS aunA 161 135 139 0 435
120 1H6H &S YRRE 123 | 169 | 142 0 434
121 | 12819H BS Teav 130 186 112 0 428
122| 1B5H &S 7Y 108 | 111 | 119 90 428
123 1RH4H FERAT a4 b 125 125 178 0 428
124 1A11H &S A% 134 | 171 | 123 0 428
125| 1RA1H BS a1 99 98 141 90 428
126 | 12H8H e otk 153 | 168 | 106 0 427
127| 1R9H BS aAq 130 155 142 0 427
128| 1H9H = THAF 154 115 157 0 426
129 | 128 20H BS R R—=/ 107 147 171 0 425
130| 1H4H BS Zyv—X 185 107 131 0 423
131| 1RAT7H BS < ¥ 133 163 124 0 420
132 128130 | E& THAF 121 | 175 | 123 0 419
133| 1H4H BS LEY 100 | 171 | 147 0 418
134| 1R10H = a—4 127 160 130 0 417
135| 1H6H BS TYHF 114 144 158 0 416
136 | 128318 | ##if LA 129 | 169 | 118 0 416
137| 128 16H BS INFY 131 7 116 90 414
138| 128 23H BS < AA~NR 133 114 167 0 414
139| 1RA14H BS ST 171 121 122 0 414
140| 1AH13H AT NZX 134 110 169 0 413
141| 1A14H BS ISZH I 147 131 134 0 412
142| 1HG6H BS R/R—/ 146 126 139 0 411




143 | 12HB30H BS Teav 196 98 117 0 411
144 | 12R29H e TNT 118 145 146 0 409
145| 125 20H BS T A¥ 87 156 165 0 408
146| 1H4H BS 7y F— 123 127 158 0 408
147 | 125 20H BS hoxTA 165 106 136 0 407
148 | 12H19H BS 7A 136 113 67 90 406
149| 1H5H BS INZXH IV 123 153 130 0 406
150 | 12H22H FERAT a4 b 155 108 142 0 405
151| 1H5H BS T v AV 176 103 126 0 405
152 1H6H BS vRRE 130 139 135 0 404
153| 1H4H AT a4 b 102 109 193 0 404
154 1H13H BS . 165 139 99 0 403
155( 1281084 BS L 151 123 128 0 402
156 | 128 29H AT L3> 140 112 150 0 402
157| 1A11H BS % 146 134 122 0 402
158 | 12H25H == FT7 TN 127 155 119 0 401
159| 1H9H BS THHF 128 109 164 0 401
160| 12A31H == VAVASS 136 150 115 0 401
161| 1A15H biEb i /NIL 113 152 135 0 400
162 | 128 13H BS ~Y b 115 127 157 0 399
163| 1H4H BS XA X 113 131 155 0 399
164| 128108 | ES a—+ 117 145 136 0 398
165| 1H10H BS i e 91 159 148 0 398
166| 1A2H BS H—r3A 110 165 122 0 397
167| 1A11H AT 7=\ e& 130 122 145 0 397
168| 1AbHH B 2 114 88 104 90 396
169| 1H1H BS Ih 101 111 94 90 396
170| 128138 | EBS vre/4a< 125 139 131 0 395
171| 1814H il aA by 154 | 117 | 124 0 395




172| 1R4H BS 77/ 101 155 138 0 394
173| 1HG6H BS THRRE 95 138 160 0 393
174| 186H BES 20— 106 125 161 0 392
175| 18B8H e a4 b 106 | 132 | 154 0 392
176 | 12820H == w/R—=/ 157 129 105 0 391
177 | 128 24H FERAT AVIZE 131 116 144 0 391
178| 128108 | EBS FoR— 133 | 117 | 140 0 390
179 | 128 25H BS Il 120 159 111 0 390
180| 1H12H AT YR E— 133 158 99 0 390
181| 1A2H BS E~Zv 148 124 118 0 390
182| 1H12H = 24 108 123 158 0 389
183| 1H4H BS F Y 132 97 159 0 388
184| 1R11H = Ty b — 144 130 114 0 388
185| 128 20H BS TYHF 79 141 167 0 387
186 | 128228 = Ty b 120 154 113 0 387
187 | 12A25H FERAT a4 b 112 182 93 0 387
188| 1H6H BS A e 145 120 122 0 387
189| 1A3H BS agnA 110 130 147 0 387
190| 1R12H AT /N)L 177 90 120 0 387
191| 1R4H AT 77k 138 140 108 0 386
192| 1R11H = VAV e 97 136 153 0 386
193| 1AH1H BS I 102 88 106 90 386
194 12813H = TYHF 124 125 136 0 385
195| 128 19H AT =% 139 134 112 0 385
196| 1HG6H BS TYHF 138 120 127 0 385
197 | 128 29H BS Ok 101 124 160 0 385
198 | 128 23H = AyT>r3av 108 135 141 0 384
199| 1R9H BS EA¥ 117 146 121 0 384
200| 1811H S a4 91 94 108 90 383




201 | 12H16H AT a4k 125 144 112 0 381
202 1HbLH BS 4RIV 141 113 127 0 381
203| 128250 | E&S & 137 | 103 | 141 0 381
204 1H15H BS FrxO 129 74 88 90 381
205 | 12R24H FERAT ko4&~ 120 128 132 0 380
206 1HG6H gt tra1u~w 137 107 136 0 380
207| 1HbHH FERAT VAR 149 117 114 0 380
208 | 12A16H BS TV 142 123 114 0 379
209 | 12R22H AT 77 b 93 174 110 0 377
210 1H8H BS T TYRK 114 135 128 0 377
211| 1H1H AT TFY 144 103 130 0 377
212 | 12R12H == VAVES 82 158 136 0 376
213| 12H31H BS a1FxFF 99 104 83 90 376
214 1H11H AT 7= 126 126 123 0 375
215| 12R28H AT a7 b 123 124 127 0 374
216 | 12A30H AT AR * 134 152 88 0 374
217 | 12R20H BS THHF 151 112 110 0 373
218 | 12A22H AT >av 101 151 121 0 373
219 | 12R28H BS A+ 127 111 135 0 373
220| 12A13H BS vRRE 124 132 116 0 372
221| 12H31H BS a1—h 131 99 142 0 372
222 | 12A29H BS =N HiE 120 71 90 90 371
223| 1H14H BS INX L 147 118 106 0 371
224 | 12R6H gt 77k 124 157 89 0 370
225| 12A10H AT 77 b 106 145 118 0 369
226| 1HG6H FERAT hx 101 127 140 0 368
227| 12A15H BS WD ZE 96 105 166 0 367
228 1H10H BS 7Uvaw 161 110 96 0 367
229 1H2H BS T4 3 139 110 118 0 367




230| 12R13H BS YR RE 169 114 83 0 366
231| 1H4H BS <~ 2 109 108 149 0 366
232| 1HG6H BS TYHF 140 129 96 0 365
233| 1H4H BS HErEn 114 128 123 0 365
234 1H9H BS FTHXAH 113 115 137 0 365
235| 128 28H FERAT 37 107 124 133 0 364
236 1A11H = 7y F— 80 127 156 0 363
237| 1A1H BS ST 106 127 129 0 362
238| 1A11H BS TFILTILT 116 135 111 0 362
239| 12H6H BS A% 112 126 123 0 361
240| 184H BS ZHK 83 134 | 144 0 361
241 1R4H BS ITIL 137 118 106 0 361
242 1R10H = Vava 99 134 128 0 361
243| 1A10H BS 743 103 131 127 0 361
244 | 12R23H AT hoA42ay 118 116 126 0 360
245| 1A3H BS TIL— 125 117 118 0 360
246 | 12R10H = x L 102 134 123 0 359
247 | 128 20H BS TYHF 95 135 129 0 359
248 | 12H29H BS L /X 130 98 131 0 359
249 | 12830H BS e % 92 109 158 0 359
250 12H8H AT ek SE 112 122 123 0 357
251| 1A3H BS N 76 139 142 0 357
252 1H2H AT pajun 75 84 108 90 357
253 | 12830H BS FH 109 120 128 0 357
254| 1H3H BS hrx 90 124 141 0 355
255 1A1H AT R 108 123 124 0 355
256 12R12H BS A F 111 88 155 0 354
257 1AH2H AT 7 94 100 70 90 354
258 12R31H BS FX 116 110 128 0 354




259| 1HbHH BS INZX S 126 148 80 0 354
260| 12A10H BS ARA 125 117 111 0 353
261| 1HG6H AT a7 b 106 145 102 0 353
262| 1HbHH gL 77 b 126 126 101 0 353
263 | 12H29H BS b7 106 141 106 0 353
264 | 12A10H BS Favtr 126 116 109 0 3b1
265| 1H12H BS Y 3 123 107 120 0 350
266 1H11H gt >av 64 143 143 0 350
267| 1H13H BS IAF 118 129 103 0 350
268 | 12H27H gt TY»F 102 117 130 0 349
269 | 12H30H AT a7 b 137 103 109 0 349
270 1AT7H == E—X7 111 133 105 0 349
271 1H12H BS a7y 100 57 102 90 349
272 1H14H FERAT 77k 124 122 103 0 349
273| 1H1H AT T7A S 112 117 119 0 348
274 1H11H == JaotA 79 122 147 0 348
275| 12RT7H FERAT 77 87 74 96 90 347
276 | 12A8H == TAA 140 115 92 0 347
277| 12R15H BS I3 97 92 68 90 347
278 1H8H gt 7T 87 81 179 0 347
279 | 12R30H BS & 112 111 124 0 347
280 1HbGH == a4 b 135 92 119 0 346
281 | 12R28H = SN 108 105 133 0 346
282 184H e 242 122 97 127 0 346
283 154H il a7 b 77 145 | 124 0 346
284 1H11H BS a7 97 66 93 90 346
285| 1H12H AT axAY 138 99 108 0 345
286 | 12A10H BS @i % 111 124 109 0 344
287| 1H1H AT FEV 104 135 105 0 344




288 | 128208 | A JAUN 81 84 88 90 343
289 1HbLHH T h742a70 99 95 149 0 343
290| 12A27H | 1Hif a4 b 96 126 | 120 0 342
291 1H9H BS Dl 122 100 120 0 342
292 | 12R10H BS hy =7 160 108 73 0 341
293| 12A19H BS TA R 108 136 97 0 341
294 | 12R22H AT X 67 72 112 90 341
295| 12R24H gt T 130 91 120 0 341
296| 1H4H AT F v 101 124 116 0 341
297 1H13H BS 14 XF 110 138 93 0 341
298| 1H10H BS bEF 105 115 120 0 340
299 1H4H FERAT FY b 99 117 124 0 340
300 1A1H AT a4 b 105 120 115 0 340
301 | 12H22H AT PET 90 71 88 90 339
302 | 12H29H FERAT I3 77 160 102 0 339
303| 12H25H == 7y b 127 115 97 0 339
304| 1H9H BS THAF 153 105 81 0 339
305| 1AH4H AT ~F 127 105 107 0 339
306| 128160 @ ES 373 105 97 46 90 338
307| 12A17H AT 77k 95 121 122 0 338
308 12H27H AT <Y 99 135 104 0 338
309 | 12H29H == ST 114 119 105 0 338
310 1H3H BS L /Xy 123 123 91 0 337
311| 1AHbGH gt arv 78 78 91 90 337
312| 1A11H BS =% 97 115 125 0 337
313| 12A13H BS TRXE 121 114 101 0 336
314| 1H6H BS EE 104 126 106 0 336
315| 1AH3H BS XA/ 3 107 138 91 0 336
316| 1H1H AT NILF 169 81 86 0 336




317| 12R31H AT 17 102 117 117 0 336
318 1H1H BS 74 b 122 109 104 0 335
319| 128278 | #4f < 101 | 121 | 112 0 334
320 1H8H BS N—7 23— 92 133 109 0 334
321| 1A5H BES A F3 101 145 88 0 334
322| 1H10H BS Vv 120 107 107 0 334
323 1AH1H AT Uhva 82 88 74 90 334
324| 1A11H BS Il 110 67 157 0 334
325 1H4H = 77 89 54 99 90 332
326| 1B2H BS A 7% 127 | 120 85 0 332
327 | 12R30H = 7A 119 112 101 0 332
328| 1H3H BS a1+ 99 110 122 0 331
329 1HbLHH AT d—~A 104 121 106 0 331
330( 1H11H BS XTI L 93 106 132 0 331
331| 12A31H BS A gu iy 92 135 104 0 331
332| 1H4H BS i Ry 102 74 154 0 330
333| 12R30H = X F 90 104 136 0 330
334 12A23H FERAT T 74 82 82 90 328
335 1H11H AT ReAll A e 103 92 133 0 328
336 | 128108 | EE a7 70 83 152 92 0 327
337| 12A8H BS A >4 142 84 101 0 327
338 | 12H28H BS Ua—X 117 111 98 0 326
339| 1H13H AT i a 96 127 | 103 0 326
340| 12A6H BS ik 110 130 85 0 325
341 12H16H gk i 77k 114 76 135 0 325
342| 1ATH BS 74 b 89 128 108 0 325
343| 1H3H BS VIRV 135 67 123 0 325
344| 1H8H AT A4 bav 120 105 100 0 325
345( 12H31H gk i Daou~ 60 108 157 0 325




346 1H11H BS 7 A 132 96 97 0 325
347 12H6H BS A4 FF 106 100 117 0 323
348 | 12R25H AT a7y 117 121 85 0 323
349 12H30H gL U 64 90 79 90 323
350 1H4H BES Vs RT 92 116 115 0 323
351 12H28H BS LR 114 95 114 0 323
352 1H11H BS o7y 143 7 103 0 323
353 | 12A31H BS >/ 60 82 91 90 323
354 1H156H BLibi et 132 89 101 0 322
355 12H26H FERAT AV 105 132 84 0 321
36| 1H1H BS I XF 101 96 124 0 321
357 | 12H28H BS FEEY 84 132 104 0 320
358 1H10H BS VIZA 98 119 103 0 320
359| 1H10H BS ~—XA7 156 88 76 0 320
360| 12A31H AT v — 67 98 65 90 320
361| 1H1H BS ANT T2 98 104 118 0 320
362 | 12R30H BS 1% 100 99 121 0 320
363| 12A30H FERAT AA4FH 92 149 78 0 319
364| 1810H BS ay /NI 89 113 117 0 319
365| 1H1H BS A 119 102 98 0 319
366| 12A31H = h/)FrY 118 65 136 0 319
367| 1H15H BS —H— 73 84 72 90 319
368| 12H19H BS J v 67 66 95 90 318
369| 1AH1H AT AVIZES 100 94 124 0 318
370! 1H1H AT A 103 81 134 0 318
371 1A1H BS VAR 134 72 112 0 318
372 12A31H BS ~A A 80 113 125 0 318
373| 12H20H AT [ m 124 90 102 0 316
374 12A21H BS TH 72 81 73 90 316




375| 128268 | 1A aFFv 75 104 | 137 0 316
376 | 12A30H e a7k 94 122 100 0 316
3771 1H4H BS PEXZ= 95 121 100 0 316
378| 1H1H BS V' 88 141 87 0 316
379 12H14H AT 77k 153 75 87 0 315
380 12H20H FERAT VAVE: 88 120 107 0 315
381 1AH5H BS TIAx7A 84 49 92 90 315
382| 12A31H FERAT YHHH 82 126 107 0 315
383| 1H156H AT R 105 100 110 0 315
384| 1HbLHH BS JAUN 83 82 59 90 314
385| 1H4H AT ARy 94 160 60 0 314
386| 1H12H == AhA 78 73 73 90 314
387 1H1H BS aF R 92 100 122 0 314
388| 12H8H FERAT ay 126 113 74 0 313
389 12H20H BS T v 116 108 89 0 313
390 12H27H AT bEV 113 102 98 0 313
391 12H29H BS A=K 113 105 95 0 313
392| 1HbGH AT 7—=7/ 76 100 137 0 313
393| 1H12H AT T4 b 72 111 130 0 313
394 | 12AH25H BS VD 99 85 128 0 312
395| 1H4H BS V=R 69 98 145 0 312
396| 1H3H == XN — 99 93 120 0 312
397| 1H4H AT EA4 A 113 52 147 0 312
398| 1AB4H PR L 87 144 81 0 312
399| 1H12H AT 77 b 103 102 107 0 312
400| 1A14H BS IOORX 101 119 92 0 312
401 | 12H14H AT BT RT v 105 102 104 0 311
402| 1H3H BS INFTTay 105 109 97 0 311
403 1H10H BS JUrRAY 86 100 125 0 311




404 1H1H AT v 89 90 132 0 311
405| 1H1H e iy 86 90 135 0 311
406| 1A2H BS 2V~ 80 69 162 0 311
407 1H15H gL N 74 101 136 0 311
408 | 12H23H BS Hro— 100 116 94 0 310
409 | 12H10H BS A 75 105 129 0 309
410| 12H19H BS a— 91 88 130 0 309
411| 1A15H e ay 69 75 75 90 309
412 | 12H19H BS /) —~ 102 73 133 0 308
413| 1R12H gt IR/ 7HA 99 116 93 0 308
414 | 12H12H BS TFF 72 118 117 0 307
415| 1A11H BS a7 RS 101 92 114 0 307
416 | 12H29H AT Yy Ty 85 98 123 0 306
417| 1H3H == XHAH 63 99 144 0 306
418| 1H8H e NIV 100 77 129 0 306
419| 1H3H == FAINY 104 87 114 0 305
420| 1A1H e Lk 131 | 101 73 0 305
421 12H26H AT ARAYS 109 79 116 0 304
422 1H5H BS AT 81 103 120 0 304
423| 1HA4AH BS A 104 106 94 0 304
424 1H8H AT JUZ 93 111 100 0 304
425| 1HA4AH gt < b 90 95 119 0 304
426 1H2H BS *E b 73 115 116 0 304
427 1RH2H == 3>y 89 124 91 0 304
428 1H5H BS Ry 98 119 86 0 303
429| 1HAH BS FhE 83 97 123 0 303
430| 1A7H B 5 A~ 96 122 84 0 302
431 12H26H BS LALAZ 103 84 115 0 302
432| 1R10H B 5 F=v 93 121 88 0 302




433 1H8H AT URZA 81 121 100 0 302
434 1H14H BS d7TvF— 116 83 103 0 302
435 1H3H BS bIVv~h> 82 100 119 0 301
436 | 1H12H e V2R 111 66 124 0 301
437 1H12H AT VvV 119 86 96 0 301
438| 1Hb5H BS vraxzA 96 64 50 90 300
439 1H11H BS Y 97 111 92 0 300
440| 1R14H BS a1—+ 112 109 79 0 300
441 | 12H16H BS FRay 56 93 60 90 299
442 1H1H BS THA 90 123 86 0 299
443 | 12H10H BS O—=x 117 101 80 0 298
444 1H8H == AXFAYT~ 96 82 120 0 298
445 1H4H BS QU7 RRT 67 93 138 0 298
446 | 1R12H FERAT AFar 82 124 92 0 298
447| 1A11H BS 7—/ILR 87 97 114 0 298
448 | 1HA4AH == ININT 44 79 84 90 297
449| 184H &S 272 100 70 127 0 297
450 1R12H il a7 b 106 94 97 0 297
451| 18148 B 5 hyaATF— 84 118 95 0 297
452 12H10H BS D 74 138 84 0 296
453 | 12H20H BS TR 94 118 84 0 296
454 1A10H == TA T 102 96 98 0 296
455 1H1H AT 7% 79 120 97 0 296
456 1H1H BS < 94 97 105 0 296
457 1H3H BS FTh& 102 92 101 0 295
458 | 1A16H AT T 72 117 106 0 295
459 12H22H BS I 79 110 104 0 293
460 12H27H AT a—v 51 113 129 0 293
461 | 12H28H BS NAT A7 97 89 107 0 293




462 1H4H BS A 81 113 99 0 293
463| 1HA3H B 5 7Y b 80 81 132 0 293
464 1HA3H BS VAV 106 83 104 0 293
465| 1H10H B 5 7Yz 114 99 80 0 293
466 1A1H e oA 72 117 104 0 293
467 | 123 30H BS 77 106 108 79 0 293
468 | 12H26H &S 74 b 86 121 85 0 292
469| 1A3H BS L3> 68 112 112 0 292
470 1RA1H e a4 b 102 78 112 0 292
471| 1R10H BS FH TR 134 77 80 0 291
472 1RA1H e hrx 85 116 90 0 291
473| 1A1H il = 64 103 124 0 291
474 12K 31H e VY 72 54 75 90 291
475| 123 29H BS F— 78 126 86 0 290
476 | 12H25H &S hFAA 89 77 124 0 290
477 1R4H BS v 81 138 71 0 290
478 1H8H e XA 98 101 91 0 290
479 | 123 30H BS Lk 105 71 114 0 290
480 12H7H AT tA 128 78 83 0 289
481 | 12H325H BS TAYY 84 90 114 0 288
482 1A10H S TTF N 96 101 91 0 288
483| 1AH11H BS FEXT 69 107 112 0 288
484 1A14H S T 64 80 102 106 0 288
485| 123 14H BS VAR 119 77 91 0 287
486 | 12R23H B 5 HY 119 83 85 0 287
487 | 123 31H e i 85 94 108 0 287
488 | 1H4H il a4 L 69 88 129 0 286
489| 1H2H BS Yy A= 105 97 84 0 286
490| 1HG6H B 5 =Y 102 65 118 0 285




491 1H12H FERAT T xR 122 84 79 0 285
492 12H30H e ~7Fk 68 100 116 0 284
493 1H6H BS AT F 61 74 58 90 283
494 1H5H BS hrr1 118 92 73 0 283
495| 1H4H et 2 99 86 98 0 283
496 | 1H12H FERAT HHF 2 99 102 82 0 283
497 | 12H20H BS TR 76 111 95 0 282
498| 1H3H BS AN 76 82 124 0 282
499 1H1H FERAT L 82 107 93 0 282
500 1AH1H FERAT ANV 103 94 85 0 282
501| 1H11H BS VAV 82 102 98 0 282
502 | 12A8H AT L 101 97 83 0 281
503| 12A10H BS vYRx3U 7 64 103 114 0 281
504| 1H4H == =% 93 101 87 0 281
505| 1H3H BS T F 109 78 94 0 281
506| 1H10H == auxAavy 81 113 87 0 281
507 12R17H BS A F 87 128 65 0 280
508 | 12H24H AT EEEF 79 107 94 0 280
509| 1H4H BS D Y 84 94 102 0 280
510 12H28H BS 7 hY) 62 58 70 90 280
511| 128228 | #iA HF 117 76 86 0 279
512 | 12A25H gt hyFHA 71 89 119 0 279
513| 1HbHH BS INHHY 78 93 108 0 279
514| 1H11H == IXb/—% 81 100 98 0 279
515| 12H10H BS VINK— 79 112 87 0 278
516| 1AH1H AT AR 87 82 109 0 278
5171 1H1H BS XIVT 4 — 94 90 94 0 278
518| 1H3H BS a7k 100 86 90 0 276
519 1AH11H BS a3/ RT 89 91 96 0 276




520 1RB1H BS 4 89 102 85 0 276
521 | 12H22H e Y 44 83 58 90 275
522 1H6H BS AFTTANL 51 61 73 90 275
523 1H4H B 5 Y=k 87 121 67 0 275
524| 1H14H BS <~ —Y 90 91 94 0 275
525| 1281080 @ &S VYL 71 98 105 0 274
526 12H29H BS VAV 7 108 89 0 274
527| 12A12H BS PN 82 94 97 0 273
528 | 12H16H BS EEF 91 87 95 0 273
529 | 12A30H FERAT =% 98 92 83 0 273
530 12H30H FERAT v 82 106 85 0 273
531 | 12A30H FERAT 74k 111 90 72 0 273
532| 1HbHH BS h>rrh 91 94 88 0 273
533| 1A3H BS A % 56 83 134 0 273
534 12A31H FERAT a— 56 76 51 90 273
535| 1H8H == I 64 90 118 0 272
536 154H B 5 TV 66 149 57 0 272
537 | 12H28H == >FY 62 52 68 90 272
538| 1A3H S VoA 86 92 94 0 272
539| 1AH1H gt V7 91 99 82 0 272
540 | 128258 | iR Ry Z vy 82 94 95 0 271
541| 1H11H == a7 b 125 74 71 0 270
542 1H1H BS a3y 96 102 72 0 270
543| 12A12H == vEay 92 111 66 0 269
544 | 12H26H AT X F 87 94 88 0 269
545| 12H28H BS % 88 88 93 0 269
546 | 12H29H BS ffH 74 102 93 0 269
547| 1H13H FERAT YIORATH 78 99 92 0 269
548 | 1H14H BS -9 rF— 100 86 83 0 269




549 12H16H BS L7EH 68 58 52 90 268
550 12A17H BS )y 82 101 85 0 268
551 12H20H AT ay 57 52 69 90 268
552 | 128258 | M | Av=—r7 > 80 90 98 0 268
553| 1HbHH BS HhrF4 85 83 100 0 268
554 | 12H25H BS AP 90 91 87 0 268
555| 1H12H AT N7 87 73 108 0 268
556 1H14H BS —FiL7 88 95 85 0 268
557 12R19H AT 7Y F 80 48 49 90 267
558| 1H10H BS N 70 68 128 0 266
559| 1HS8H AT V2RV 100 74 92 0 266
560 | 12A16H == PR L 99 97 69 0 265
561 1283 29H FERAT v/ v 59 131 75 0 265
562| 1H3H == A 76 82 107 0 265
563| 1H3H AT Y hY 124 55 86 0 265
564| 1H1H AT =% 66 105 94 0 265
565| 1A4H &S ks 88 62 114 0 264
566 | 12A17H == 7Y 85 111 67 0 263
567| 1HHH BS h>rF3 81 100 82 0 263
568| 1H4H gt N7 % 97 79 87 0 263
569| 1H15H AT I—F v 110 73 80 0 263
570| 12A10H == a7 108 69 55 30 262
571| 128238 | E&S FRLF > 93 73 96 0 262
572| 1HG6H == D 73 115 74 0 262
573| 1H1H AT IhY 64 98 100 0 262
574| 1H13H AT 77N Z 69 111 82 0 262
575| 1H13H AT EAHY 97 78 87 0 262
576 | 12A10H B —ai—x% 94 79 88 0 261
577| 12H23H AT INF 66 45 60 90 261




578 | 12H31H AT a4 b 89 104 63 0 261
579| 12A10H BS vVETR 57 107 96 0 260
580| 1H4H AT a4 % 120 98 42 0 260
581| 1H1H gL Ti 75 93 92 0 260
582| 1H13H AT IaF 95 7 88 0 260
583 | 12H25H FERAT 7Aa— 89 74 96 0 259
584| 1H4H AT S 87 50 122 0 259
585| 1H11H BS bEF 89 81 89 0 259
586 12H8H BS Vs 87 100 71 0 258
587 | 12H29H BS v 70 119 69 0 258
588 | 12H31H FERAT LA 116 80 62 0 258
589| 1HbLGH == Tvay 62 71 123 0 256
500 12H28H BS Liyyl)—= 66 96 94 0 256
501| 1H11H FERAT bZA 96 47 113 0 256
502| 12H6H FERAT ®F 85 102 68 0 255
593 | 12H29H BS NILEV 100 85 70 0 255
504 187H 1T HHED 77 47 41 90 255
505| 1H12H AT L 93 101 61 0 255
506 12H30H AT a2 b 72 133 48 0 253
597 | 12A30H BS AFY < 74 101 78 0 253
508| 1H4H BS Y 59 27 76 90 252
599 | 12A30H gt Fhx 74 78 99 0 251
600| 1283080 | ES /2 64 73 113 0 250
601 | 12H29H == AR F— 56 80 112 0 248
602 | 12H28H BS EhZ7— 111 71 66 0 248
603| 1810H BS Ya—+ 69 84 95 0 248
604 | 12A31H AT A 90 73 85 0 248
605| 12A31H BS ~AF+A 86 82 80 0 248
606 | 12H23H AT =Wz 76 84 87 0 247




607 | 12R24H AT A4 67 62 118 0 247
608 1H10H BS ez 73 105 69 0 247
609 1H11H e NIVEFFY 51 58 138 0 247
610| 12H25H e hA b 73 88 85 0 246
611| 1HbHH BS az 62 37 57 90 246
612 | 12H28H BS AN 79 82 85 0 246
613| 181H e VAVASS 87 94 65 0 246
614 1H3H BS 1= 100 97 48 0 245
615| 1H15H AT Ak 69 74 102 0 245
616 1H14H BS Hh X< 48 115 82 0 245
617| 1H4H BS T—X 58 84 102 0 244
618 1AH1H FERAT bZA 85 72 87 0 244
619| 1H15H FERAT Ry Fay 77 93 74 0 244
620 1HbLGH == XY 105 74 64 0 243
621| 1H1H BS ATTF 75 121 47 0 243
622 | 128 29H == +/ 39 83 31 90 243
623| 1H11H FERAT —vZovv 63 114 66 0 243
624 | 125 10H == o I ) 76 54 82 30 242
625| 1HG6H BS = 75 68 99 0 242
626 1HA1H BS ¥v— = 81 40 31 90 242
627| 1B7H e ATE 81 67 93 0 241
628| 12A17H AT b7 A 76 82 82 0 240
629 12R30H AT 7Ia 36 55 59 90 240
630 1H8H == ALk 49 91 100 0 240
631| 1H1H AT Ta— 91 59 90 0 240
632 1H12H e to b 72 81 87 0 240
633| 1H12H AT 77 53 53 44 90 240
634 | 128308 | 1A FeO 45 47 57 90 239
635| 1HbHH BS Hh X< 94 87 58 0 239




636| 1HHH AT FHF 98 66 75 0 239
637| 1H12H T ThH77>7 62 90 87 0 239
638 | 12H26H FERAT HNA 76 82 80 0 238
639 | 12H29H BS aFx7 65 110 63 0 238
640| 12823H FERAT x5 &< A 45 96 96 0 237
641 | 12H28H BS B Ahb 66 83 88 0 237
642 | 1H14H BS JT7L<TR 63 79 94 0 236
643 1H3H BS ~ T 80 85 70 0 235
644| 1H4H AT XA F 74 96 65 0 235
645| 12H28H BS MAE-> B 65 94 74 0 233
646 | 1H13H AT 74 96 74 63 0 233
647 1H13H FERAT TV d— 65 81 87 0 233
648| 186H e TF 80 81 71 0 232
649 184H il 7T 82 75 75 0 232
650 12A31H FERAT BNy T 62 106 64 0 232
651 | 12H28H AT I RT 55 70 106 0 231
652 | 12H23H FERAT W& 82 67 81 0 230
653| 12A16H == Faurv 44 64 29 90 227
654 | 12H26H AT FTFv 72 91 64 0 227
655 128 27H AT a4 b 51 62 112 0 225
656| 1H10H BS Y 73 78 74 0 225
657 | 12827H gt b E 54 7 93 0 224
658 | 128288 | i V7 89 75 60 0 224
659 | 12829H == =R PR 69 76 79 0 224
660 | 128318 | A VoD 77 95 52 0 224
661 1H13H BS TA X 92 54 78 0 224
662 | 12H10H BS TUIF 60 75 88 0 223
663 | 12829H FERAT A% 80 74 69 0 223
664| 1H1H AT vl 60 67 96 0 223




665 184H 1T 7 63 73 85 0 221
666 | 128298 | BS P8 A& 71 75 75 0 221
667 | 1H15H AT TV 53 79 89 0 221
668 | 12H27H gL b EY 68 86 65 0 219
669 | 12H31H FERAT Y3 58 32 39 90 219
670| 12H8H BS AN 80 79 59 0 218
671 12R27H FERAT <Y 69 39 110 0 218
672 1HT7H BS h R 65 75 78 0 218
673| 1H10H BS I XF 100 62 56 0 218
674 1H14H BS TAS LT — 50 97 70 0 217
675| 1HbHH AT V=5 60 94 62 0 216
676 | 12H28H BS JILNRF 37 80 7 58 0 215
677| 1H10H BS 723U 87 54 74 0 215
678 1H8H FERAT 70yl — 94 45 76 0 215
679| 12A8H BES Y—<v 77 72 65 0 214
680 | 12H24H FERAT A 61 60 93 0 214
681 | 12H25H FERAT B X 90 66 58 0 214
682 1H4H FERAT 777 75 74 65 0 214
683 | 12H18H | #H1f Ry F v 44 54 114 0 212
684 | 12A30H gt =y % 75 62 75 0 212
685 185H S TURF v 70 53 89 0 212
686| 181H e a8 101 44 67 0 212
687| 1H13H AT Y 53 78 81 0 212
688 | 12H25H AT VAV 63 83 65 0 211
689 | 12H30H AT Ty RA 53 87 70 0 210
690 181H e L# 76 58 76 0 210
691 | 12H30H AT L7 55 71 83 0 209
692 1A1H FERAT YA 60 55 94 0 209
693| 12H30H BS FE/ 73 70 65 0 208




694| 1H11H FERAT EEFx 54 85 63 0 207
695 1A7H S FHT AT 71 57 78 0 206
696 186H 1T =y 84 45 77 0 206
697 1H12H gL I3 37 29 50 90 206
698 | 128238 | A =% 49 79 77 0 205
699| 1H1H gt =N 52 113 40 0 205
700| 1H1H AT TR 76 60 68 0 204
701| 12A8H BS Viks 73 62 68 0 203
702 | 12R25H AT hA b 57 82 64 0 203
703 1AH1H BS va I 75 51 0 203
704 | 12R27H AT a4 b 76 42 84 0 202
705 1H3H == rF—a 86 41 74 0 201
706| 181H e R=—=Vy 73 55 73 0 201
707 | 12A31H FERAT Vo7 81 57 63 0 201
708 | 12R25H FERAT x> 49 27 33 90 199
709 1H10H == F X 79 59 61 0 199
710| 1H1H FERAT JIbT> 62 55 82 0 199
711 | 12A23H FERAT 0 Ny By 60 79 59 0 198
712 | 12R25H BS P—EX 83 7 38 0 198
713 1H11H AT —7r)3a7 60 64 74 0 198
714 | 12R25H AT AT 66 62 69 0 197
715 1HbLGH == h>F2 58 88 51 0 197
716 | 1HbHH AT L A7 61 67 69 0 197
717 | 12510H gt <7 7 59 60 0 196
718 | 12H29H AT FeA 73 60 63 0 196
719 1A1H FERAT D% 55 78 63 0 196
720| 1AH10H BS LAh&xBay 47 68 80 0 195
721 1A1H BS YoHs 38 60 97 0 195
722 | 12R6H BS NrF¥Fa Fv 61 7 56 0 194




723| 1A7H BS *7 50 57 87 0 194
724 1A1H gl <+ b 75 57 61 0 193
725| 128298 | ES Vaw 61 73 58 0 192
726 1H13H e *ay 66 57 69 0 192
727| 12B6H e THAF v~ 51 68 71 0 190
728| 12B148 | #iA Ho =4 78 36 75 0 189
729| 1H10H BS o9 64 70 55 0 189
730| 12R17H BS Th¥ 66 78 42 0 186
731 | 12R28H FERAT ~+ b 77 44 65 0 186
732| 128238 | #iA 7A— 75 52 58 0 185
733| 1HbHH AT 72 68 47 70 0 185
734 | 12A8H == (NI 63 60 60 0 183
735| 1H10H BS X7 2 79 53 50 0 182
736 1H15H AT v 54 57 71 0 182
737 12K 9H FERAT oA 67 44 69 0 180
738 1AH1H FERAT 77k 54 50 76 0 180
739 12A31H FERAT Iav 58 17 15 90 180
740 1A1H == I=v7 56 65 59 0 180
741 | 12R28H BS Ve 50 86 43 0 179
742| 1RA5H AT ak3n0 105 47 26 0 178
743 | 12K 28H BS FIH 33 51 93 0 177
744| 181H e 27 50 45 82 0 177
745| 1H3H BS AT 73 44 58 0 175
746 1H10H == FEXEXTAY 56 51 66 0 173
747 1H1H BS E AL 51 45 74 0 170
748 1H13H AT URZ4N 58 47 63 0 168
749 | 12H25H AT 70— 20 91 56 0 167
750| 12A6H FERAT FTHIFTH 55 46 64 0 165
751 | 12A29H BS BRIR BE 50 58 55 0 163




752| 1A13H e = 44 58 61 163
753 1H4H e Yawx 84 6 72 162
754 12R27H FERAT [ % 58 58 45 161
755| 1H15H e RNy 84 28 49 161
756 1B7H e 7= 47 57 56 160
757 1A1H e kEY 49 52 58 159
758 | 12A31H AT 77 58 35 63 156
759 | 12H6H FERAT 7 Hwy/N— 50 29 76 155
760| 1H4H BS E<> 63 56 36 155
761 1HT7H BS HA R 54 57 43 154
762| 1H4H AT 777 65 29 59 153
763| 12A31H FERAT Fx 55 38 57 150
764 1H1H FERAT =7k 58 53 39 150
765 1H11H AT Z D H 70 41 38 149
766 | 12R28H BS ~TF 39 61 48 148
767 | 12A31H FERAT INT 44 51 50 145
768 | 12R30H FERAT EvA == 45 41 55 141
769 | 12H30H FERAT a7Fv 58 46 34 138
770 | 128 28H BS AN 33 34 64 131
771| 128148 | BES Raw 39 30 58 127
772 1R11H e ~ILy S+ 47 47 27 121
773| 12R6H AT 24 F 41 42 37 120
774 12R25H BS b FAHA 59 26 35 120
775| 1A1H e NV T 45 28 47 120
776 | 12A23H AT A=t A4 12 18 65 95




